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Please make sure that the printed pages in this
question paper are 16 in number and it contains

21 questions.

o y97-UF T 37 & & 3 Y T FE T T A
5 FC-Gieasl & JeF-I7 g7 [7d)

The Code No. and Set on the right side of the
question paper should be written by the candidate

on the front page of the answer-book.
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* FYI G957 FH TFA [IGT JE@ 7 & Yoo, T H BHH
ST [

Before beginning to answer a question, its Serial

Number must be written.
o FTC-YitaHl & §5 4 Gl g/ 91 T 8ig)
Don’t leave blank page/ pages in your answer-book.

o FUCYRTH F SARTT #HF o s TE FAh o
STasFEagAr & @ Siv frar aaT T e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o gdereff 1T T To FIT-UF UT S7a9T @

Candidates must write their Roll Number on the

question paper.

o UF F97] F T @7 @ §d I8 GrRET FT o [ FeT-E
g7 a 78 & YO % Iy 54 a9 § #HE A @
@B TE] [ T

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.
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G 39T -
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q qrs 7 v 8

(i) @& - o & F97 T& 1 T 8 (i-xiv) TGTS
797 81 F97 (i) 7 (v) T TglAedT F97 81 9%
797 H a¢ Ay Ry g & ford @ @@l [Awey #
FIT FITT FIT (Vi) G (xiv) T JEF T FTT TF
g7 & =] g7 el § o gew J9T 1 3 #
&l

(iv) @€ - § 7 797 d@r 2 @ 11 7% SI7-Tgaas
g7 &1 9% F97 & 2 37F &
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&1 g% J97 F 3 o &)

(Vi) G - § F 797 &7 19 & 21 TF §H9 FTTHE
J97 81 g% 797 # 5 9% 81

4330/(Set : A) P.T.O.



(4) 4330/(Set : A)

(i) @€ - § (35 FaEE 597) & @ 597 § F<ikE

fameeq Syerey &1 08 gol 4 @ vl & T g 4
@ HIT T & F97 FCT &1

General Instructions :

(9
(%)

(i)

()

All questions are compulsory.

This question paper contains 21 questions,
which are divided into four Sections : A, B,

C and D.

Section - A contains question number 1
having fourteen (i-xiv) objective type questions.
Question from (i) to (v) multiple choice type
questions. Each question carries four options,
from which choose the correct option. The
answer of each question from (i) to (xav) may be
given in one or two words or sentences. Each

question carries 1 mark.

Section - B contains question numbers 2 to
11 of very short answer type questions and

carry 2 marks each.
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(v) Section - C contains question numbers 12 to
18 of short answer type questions and carry

3 marks each.

(vi) Section — D contains question numbers 19 to
21 of long answer type questions and carry

5 marks each.

(vit) Internal choice is available in two questions
of Section-D (Long Answer Type Questions).
You have to attempt only one of the given
choice in such questions.
gusg - H
SECTION - A

(aEgFrs a%)

(Objective Type Questions)

1. () #9997 T HHEE & e Sis @ g P o

(A) 44
(B) 46
(C) 22
(D) 23
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How many pairs of autosomal

chromosomes are present in human ?

(A) 44
(B) 46
(C) 22
(D) 23
(i) Haweg F o ? 1
(A)  STRIEHI
(B) #H&dl
(C) SR
(D) &gy

Coelacanth was a :
(A) Invertebrate
(B) Fish

(C) Amphibian

(D) Reptile
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(i) T faxoopa & ©F T & 20% WECEH 81 3EH
e gfaea 9EfE e o i

(A) 20%
(B) 40%
(C) 30%
(D) 10%

A double stranded DNA has 20% cytosine.

What will be the percentage of thiamine in

it ?

(A) 20%
(B) 40%
(C) 30%
(D) 10%

(iv) A % 'Y Tergd § fbem ofF 8 ¥ ? 1

(A) 231
(B) 456
(C) 196
(D) 192
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How many genes are present in human 'Y’

chromosome ?

(A) 231

(B) 456

(C) 196

(D) 192

(v) STafE el S B 8 7 1

(A) i (&)

(B) @i AT

(C) W=

(D) & & Hi§ T

Which is a primary lymphoid organ ?
(A) Spleen

(B) Lymph node

(C) Peyer's patch

(D) None of these
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(vi) g & A B TSI B AT B AT GABH Bl
T faRaa 1

Name the nematode which infects the roots

of tobacco plant.
(vii) S8 e 1 AW fafae frew aeaar (feiws)
e fem 1

Name the scientist who coined the term
'linkage'.

(vii) 2002 H Hag g W fOw ¥999 @@ W
get ? 1

Where was the World Summit of
Sustainable Development held in 2002 ?

(ix) fagaisd X gaaisq @ 8 ? 1
What is Apocarpous and Syncarpous ?
(x) TFEEE R Fed § 7 1

What is Xenogamy ?
(xi) AYHARAT B FEAT THAFE TN BIA-8 & 7 1

Which is the most common species of

honeybee ?
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(xil) 3 9T F AW fRaw PEE FbT o< S S

2l 1
Name the plant from which Cocaine is
obtained.

(xiti) AT & AToH BT T AT 1

Name causative organism of Pneumonia.
(xiv) MOET %! faeaiia &hifsm 1

Write the full form of MOET.

gus - g
SECTION - B

(eHfer-SrgerTeT 5)

(Very Short Answer Type Questions)

2. Uyl ¥ fafr iR saet & AW ol 2

Name various vegetative propagules in plants.
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3. TBR A gA &l A AR ST AT U S 8 7 2
Why are small animals rarely found in polar

regions ?

4. S GFRF o] & JUEA § GESHAl H F R er
T 7 2

What is the role of microbes in the production of

bioactive molecules ?

5. S fEer & Smara # 9 [ 2

Write down the role of Baculoviruses in

biological control.

6. IRFT (FEEATERT) THrilh FM & ¢ G_Y S HrEwA |
T HY I & ? 2

What is bagging technique ? How is it useful in

a plant breeding programme ?
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7. TR AR IR & F™ e § 7 2

What are the functions of Exonucleases and

Endonucleases ?

8. SIdl i IE SA H H T AT SEE g8 Sl
8, T ST HA di I H X &l & 7 2

Why does the Bt toxin not kill the bacterium
that produces it but kills the insect that ingest

it ?

9. Sig % HATPERIG TR § JATd =T HiF-9 8ld & ! 2

What are the basic steps in genetically modifying

an organism ?

10. 3Jiq:fafdre Gt 1 & ? U Iee foiay) 2

What is interspecific hybridization ? Write an

example.

11. Tgwige! 3R Uidiizel #1 8 ? 2
What is Aneuploidy and Polyploidy ?
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12.

13.

14.

15.

(13) 4330/(Set : A)
gus -
SECTION- C

(eI 597)

(Short Answer Type Questions)

ST F B ? SUEed H Mg & | & g
Sefgdd e B9 8 7 3

What is Decomposition ? What are the climatic
factors that regulate it ?

gy gftc & e & &9 ofEE |1 8 7 3

What are the three connotations of theory of

special creation ?

TRl ARGl & TS SRSl g [t @ o
fafaeaar & s # faRau 3

Write about the biodiversity in Tropical

Amazonian rain forest in South America.

AR SR G & SUET & #T A e ! 3

What are the advantages of production of

genetically modified crops ?
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16. R PafeHtze g & auid HivT 3

Describe various Cannabinoid drugs.

17. [y SR (e =EeM) ok %A BT =eaw @
g ? SaRaded @ omuem w& RmE B O? BE o
ARG I 1] 3

What are point mutation and frame shift
mutation ? What do you mean by a mutagen ?

Give any one example.

18. & TFH TSl HEHA FH aUA &I 3

Describe Test Tube Baby Programme.

gos - T
SECTION - D
(S TS 99)

(Long Answer Type Questions)

19. SR 1 BT & ¢ S HGOT % T G9E B © ¢ 5

What is Noise ? What are the effects of noise

pollution ?
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YqT

OR

SN oTaerg fohd T BT & 7 GUeT fafher & aen
Y R S 9 UHR J99 987 ? 5

How does ozone depletion take place ? How will

enhanced ultraviolet radiation affect us ?

20. FIAE FHE H G B fIEGT qUH B 5

Describe the structure of transcription unit in

detail.
YT
OR

feggedtt & O U 1 €T # g o ffaw s

Write down the salient features of double helix
structure of DNA.
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21. EhoTTh TCERIAT % ik HAREE HE H SR
AR FEH FTEAT B U o 5

Draw a well labelled sectional view of

seminiferous tubule and explain its structure.

4330/(Set : A)



